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History 
The History course consists of two units: 

• All students study Stuart Britain and the Crisis of Monarchy, 1603–1702 

• Students have the choice of studying  either Revolution and Dictatorship: Russia, 1917-1953  

or Democracy and Nazism: Germany, 1918-1945. 

At enrolment, you will be asked which option you wish to study.  

To help you to make this choice, we have set summer work on both topics. If you are unsure which option 

to choose, read through the work for both options. This may help you to decide which topic interests you 

more. However, you only need to complete the work for the option you plan to study.   

The Summer Work: 

You do not need any prior knowledge of the topic to complete the three tasks set – just use the 

information in the texts provided. 

• The first task is designed to show us how well you can use several sources of information (text and 

film) to identify key strengths and weaknesses of a country, and summarise these clearly. 

• The second task requires you to read more carefully and answer questions that are more closely 

focused on the text. This is designed to show us how well you can:   

o extract information from a piece of extended writing 

o use this information to provide answers to questions 

Answer the questions for this second task in the spaces provided on the chart.  

• The third task is designed to show us your ability to express your ideas in extended writing. 

Instructions for this task are on page 11. You should use your own paper to complete the essay 

(handwritten or word-processed).  

 

Task: Pages: Marks: 

1 
2 
3 

2 
3-9 
10-14 

 12 marks 
15 marks 
18 marks 

TOTAL: 45 marks 
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RUSSIA: SUMMER WORK 

Task 1 

After reading the information about Russia on pages 3 and 4 (you may also use the video clips on page 5), identify 

three strengths and three weaknesses of Russia prior to World War One. Then answer the questions below the table. 

Strengths  1. 

 

2. 

 

3. 

3 marks 

Weaknesses  1. 

 

2. 

 

3. 

3 marks 

 

1. Do you think Tsar Nicholas II was a good leader of Russia?  Explain your answer. 

 

 

2 marks 

2. Prior to World War One, was the Russian economy strong or weak? Explain your answer. 

 

 

2 marks 

3. Given what you have learnt about Russia before World War One, what impact do you think the 

war may have had on Russia? Explain your answer. 

 

 

2 marks 
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RUSSIA: THE ECONOMY 

At the start of the 20th century, 

although Russia could not in any way 

rival the great industrial economies of 

Western Europe, it was no longer the 

agrarian society it had been in the mid 

19thcentury. 

The Russian empire was huge and 

whilst this brought advantages in terms 

of the resources and raw materials 

within it, its sheer size presented a 

challenge to the movement of goods 

and people. Russia lagged behind 

Western Europe and the USA in terms of connecting centres of population together by national road or rail 

networks.  Decent roads were few and far between. Less than one tenth of one per cent of Russian villages 

had local telephones and no public telephone line connected the Russian empire to the outside world. 

Farming methods in many villages were very old fashioned and this was a limiting factor on Russia’s 

industrial growth as cities could not be fed. Most Russian were peasants farming the land in small farms 

that were on average 38 acres in size.   Agricultural output was held back by the smallness of fields and old-

fashioned farming methods that had changed little in 200 years.   

Russia’s industrial growth in the early twentieth century was concentrated in only a few areas: 1) around St 

Petersburg, 2) Moscow and the surrounding area, and 3) the Donbass area. Vast areas remained 

undeveloped. Industrial output had risen, and by 1912 Russia’s industrial output was four-times what it 

had been in 1890 but it was still producing very little in comparison with other countries. For example, it 

produced only 3% of the worlds’ steel production despite its vast resources in coal, and iron. 

By 1910, 2.7 million Russians were employed in factories. This was still small in comparison with the total 

population of approximately 125 million but showed there had been significant change since 1860. Nearly 

half of Russia’s industrial workforce worked in factories employing 1,000 men or more. There were very 

few regulations governing these factories as the government was reluctant to intervene.  Workers were 

often poorly paid for long hours worked in dangerous conditions. It had only been in the 1890s that the 

employment of children under 12 was forbidden, and the use of female labour in coalmines banned.  Many 

problems remained such as overcrowding in factory barracks, and payment of wages in kind. Strikes were 

illegal until 1905 but occurred frequently. There was discontent that the wealth generated by the factories 

was not fairly shared.   

Both the industrial workers and the peasants were immensely poor, and this was in great contrast to the 

wealth of the royal family and nobility. 
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RUSSIA: THE TSAR 

In 1894 Nicholas II became Emperor (Tsar) of Russia. He 

belonged to the Romanov family that had ruled Russia 

since 1613. 

He was an autocrat and ruled Russia on his own, 

choosing ministers and deciding policy. There was no 

parliament, and only after serious disturbances in 1905 

did Nicholas agree to the creation of a State Duma – a 

parliament. But it had no real power. Nicholas was 

determined to maintain his traditional powers and 

resisted all attempts at reform. 

Historians agree that Nicholas II lacked the qualities 

needed in a Tsar at the start of the century. The 

historian Hans Rogger wrote: 

“Nicholas had no knowledge of the world or of men, of politics, or government to help him make the 

difficult and weighty decisions that the Tsar alone must make. The only guiding stars that he recognised 

were an inherited belief in the moral rightness of autocracy and a religious faith that he was in God’s 

hands, and his actions were divinely inspired.” 

One of the main influences on Nicholas was his wife, Alexandra, who was a granddaughter of Queen 

Victoria.  She believed that the Tsar should rule Russia on his own (as an autocrat) and encouraged 

Nicholas to ignore the advice of ministers who advised him to introduce reforms. 

He and his family lived in great luxury with no idea of the poverty of ordinary people.  Nicholas spent even 

more time with his family following the birth of his son, Alexei, in 1904, he was a sickly infant, and it was 

uncertain if he would live. He had the inherited condition of haemophilia.  

RUSSIA: OPPOSITION TO THE TSAR 

There were political groups that looked to improve the conditions of workers and peasants. The Liberals 

believed in slow gradual change. However, by 1910 they had failed to persuade the Tsar to create a regular 

Parliament or any significant social change. Not surprisingly other political groups believed improvements 

would only come through ‘revolution’. Communists and the SRs (Social Revolutionaries) believed that only 

a revolution would redistribute wealth and political power and give the workers and peasants the 

improved conditions they deserved.  These two parties were relatively small in number and banned.  The 

Tsar used his security police, the Okhrana, to crack down on these two groups. 

 

 

 

Tsar Nicholas II and his family 
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VIDEO LINKS 
 
This link is to a programme called ‘Last of the Czars’. It gives you an excellent idea of the power of the 
Russian Tsar and his family, and the problems they faced, including the haemophilia of their son. The focus 
is very much on royalty – but you are introduced to Lenin as well.  
 
 

https://www.youtube.com/watch?v=mYo8SEvnsrM    Part 1 – the whole episode provides useful 
background information. 
 

https://www.youtube.com/watch?v=ZQSiLOgFNcg      Part 2 – most useful from 30 mins 30 secs: Russia 
in WW1. 
 

 
 
 
 

 

https://www.youtube.com/watch?v=mYo8SEvnsrM
https://www.youtube.com/watch?v=mYo8SEvnsrM
https://www.youtube.com/watch?v=ZQSiLOgFNcg
https://www.youtube.com/watch?v=ZQSiLOgFNcg


6 

 

Task 2  

On pages 8 and 9 is a copy of the introduction to a textbook on this topic. It provides an overview of the 

period you will study. Read the introduction and use it to answer the questions below. Try to put your 

answers in your own words, rather than copying from the text. The marks for each question are shown on 

the right.  

 Question: Marks: 

1. According to the first sentence of the extract, why could it be argued that the Russian 
Revolution of October 1917 was the most important event of the twentieth century? 
 
 
 
 

1 mark 

2. How did other countries respond to the creation of a Communist state in Russia? 
 
 
 
 
 
 

1 mark 

3. Which two leaders helped to create and develop the Communist state in Russia in this 
period? 
 
 
 
 
 

2 marks 

4. Lenin was a follower of the teachings of Karl Marx. What did Marx believe about: 
 

a. How human history developed? 
 
 
 
 
 

b. How Communism would be achieved?  
 
 
 
 
 

2 marks 

5. Who were the Bolsheviks? 
  
 
 
 
 

1 mark 
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6. In 1917, Lenin and the Bolsheviks seized power in Russia. How were they able do this? 
 
 
 
 
 
 

1 mark 

7. After Lenin’s death, Stalin became leader of Russia. How and why did he want to 
transform Russia? 
 
 
 
 
 
 
 

2 marks 

8. List three ways in which Stalin’s policies changed Russia. 
 
 
 
 
 
 
 
 

3 marks 

9. According to Corin and Fiehn (the authors of this textbook), what different roles were 
played by Lenin and Stalin in this period? 
 

• Lenin … 
 
 
 

• Stalin … 
 
 

 

2 marks 

 TOTAL MARKS AVAILABLE: 15 marks 
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From: 

Communist Russia under 
Lenin and Stalin, Chris Corin 
and Terry Fiehn (2004) 
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Task 3  

Write an 800 – 1000 word essay in answer to the following question: 

How far was Tsar Nicholas II responsible for the weaknesses in Russia in 1914?   

[18 marks] 

This essay title requires you to consider what factors caused Russia to be weak in 1914. You must consider 

not only the factor in the question (Tsar Nicholas II), but also other factors that caused weakness. Then you 

can assess which was most important. 

Before you write this essay, you must plan it. On pages 12 to 14 is another introduction to a textbook on 

modern Russian history. It summarises the condition of Russia just before World War One. Use this 

information, and the information from Task 1, to complete the table below: 

Cause of weakness: Two specific examples of how this factor caused weakness: 

The character and 

actions of Tsar Nicholas 

II 

1. 

 

2. 

 

The geography of Russia 1. 

 

2. 

 

The economic situation 

in Russia (industry and 

agriculture) 

1. 

 

2. 

 

The political situation in 

Russia 

1. 

 

2. 
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Now use this table to write your essay. You should write it or type it on a separate piece of paper. You must 

write a minimum of 800 words, and ideally 1000 words or just over. The essay will consist of: 

• The question. 

• A brief introduction. 

• Four paragraphs, one on each of the factors listed in the table. 

o Begin each paragraph by stating the point you will discuss (e.g. ‘One reason for the 

weaknesses in Russia in 1914 was…’). 

o Then provide your two examples to support this point. 

o Then explain how this factor caused weakness (e.g. ‘This factor made Russia weaker 

because…’) 

• A conclusion in which you explain which factor was most important and why. 

 

You will be marked based on the: 

• Focus on the question. 

• Relevance and detail of your examples. 

• Explanation of how each factor created weaknesses. 

• Quality of your judgement about which factor was most important. 
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